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1. Use mesh analysis to find i, iz, and i3 in the circuit of Fig. 1. (20%)

Fig. 1
7. Determine the value of R;, for maximum power deliverable to R, in the circuit of Fig. 2 and

calculate the maximum power. (20%)

A(® 220

Fig.2

3. Assuming that the switch in Fig 3 has been in position 4 for a long time and is moved to
position B at =0, find v,(¢) for £2 0. (20%)
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Fig. 3

4. Determine vo(f) in the circuit of Fig. 4. (20%)
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5. Synthesize the transfer function

V(s) _ 10°
V. (s) s> +100s+10°

using the topology of Fig. 5. Let Y;=1/Ry, Y=1/R,, Ys=sC), Y=sC>. Choose R;=1k() and

determine C;, C2, and R». (20%)




